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< For items (1-15), read each one carefully then choose from a,b,c or d the correct answer.

1) Students can use -------- to do tasks such as showing photographs, researching information,
recording interviews and creating diagrams.
A) tablet computers B) identity fraud C) filter D) security settings
2) The in — car heart ---------- will be used to keep an eye on those with a heart problem while
they are driving or in a car.
A) coma B) allergy C) drug D) monitor
3} The book’s title -------- and I picked the book up.
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A) attended a course  B) took an interest C) caught my attention D) got an idea

4) It is important to spend your time ------------ :

A) produce B) production C) productively D) productive

S) If we take more often, there will be fewer cars on the roads, which will result in
cleaner air in our cities.

A) public transport  B) negative effects C) urban planning D) carbon footprint

6) If Rami had his own computer, he to use his friend’s computer.
A) won’t need B) wouldn’t need C) would need D) will need
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7) In the future, it ---------- that over 40% of the population in Jordan will have a smartphone.
A) is estimated B) estimate C) are estimated D) was estimated I
8I--—-—--- like cartoon films when I was younger. These days I prefer action films.
A) am used to B) use to C) used to D) am not used to
9) We needed warm clothes when we went to London. We ----—--- the cold weather.
A) used to B) are used to C) is used to D) weren’t used to
10) By 2025, I hope researchers --------- a cure for cancer.
A) will have found B) found C) have been found D) had found

11) I saw the shoes ----- you bought last week on sale for less this week.

A) whose B) when C) which D) where
12) This time next year, they ............ for their final exams.

A) were preparing B) will be preparing

C) has been prepared D) is prepared

13) "Rashed went to the stadium an hour ago."

This sentence can be rewritten as ——--——--

A) Ayman told Arwa that Rashed had gone to the stadium an hour before.
B) Ayman told Arwa that Rashed went to the stadium an hour ago.

C) Ayman told Arwa that Rashed has gone to the stadium before an hour.
D) Ayman told Arwa that Rashed had gone to the stadium an hour later.

14) My boss sent the signed contract to his colleague on Tuesday.
The sentence which emphasises the underlined words is:
A) It was Tuesday that my boss who sent the signed contract to his colleague.
B) It was his colleague that my boss sent the signed contract to on Tuesday.
C) It was my boss who sent the signed contract to his colleague on Tuesday.

D) It was the signed contract that my boss sent to his colleague on Tuesday.

15) Our computers and mobile phones will take care of us , by telling us when to wake up ,
eat and sleep.

The underlined words in the sentence above represent one of the following rhetorical
devices ............ .

A) simile B) onomatopoeia C) metaphor D) personification

SEE PAGE THREE...
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Question Two: (20 points)
Read the following text carefully, and then in your ANSWER BOOKLET answer all
the questions that follow. Your answers should be based on the text.

Health conditions in Jordan are among the best in the Middle East. This is largely due to
the country’s commitment to making healthcare for all a top priority. Advances in
education, economic conditions, sanitation, clean water, diet and housing have made our
community healthier.

As a result of careful planning, the number of healthcare services has been increasing
rapidly over the past years. More than 800 different kinds of healthcare centres have been
built, as well as 188 dental clinics. In 2014 CE, 98 per cent of Jordanian children were fully
immunised, thanks to immunisation teams that had been working towards this goal for
several years. Although the country has been focusing mainly on improving its primary
healthcare facilities, it has not neglected its advanced medical facilities.

The life expectancy figures show that Jordan's healthcare system is successful. In 1965
CE, the average Jordanian's life expectancy was age 50. In 2017 CE, this average life
expectancy had risen to 74.6. The low infant mortality rate, as well as the excellent
healthcare system, have been contributing factors to Jordan’s healthy population growth,
which will result in a strong work force with economic benefits for the whole country.

1. Jordanian community becomes healthier due to the advances of different fields.

Write down three of these fields. (6 points)
2. Two main factors have been contributing to Jordan’s healthy population growth.

Write down these two factors. (4 points)
3. Find the phrase in the text that means “ the length of time that a person or animal is

expected to live”. (2 points)
4. Quote the sentence which shows the impact of careful planning on health care. (3 points)
5.What does the underlined pronoun “its” refer to. (2 points)
6. The reputation of Jordanian doctors has spread in the region. Suggest three different

reasons for the good reputation of Jordanian doctors. (3 points)

Question Three: (10 points)
Free Writing:

In your ANSWER BOOKLET, write a composition of about 80 words on

ONE of the following:

1. It is common nowadays for each member of the family to have their own piece of modern
technology. Some people think this will lead to a breakdown in family relationships and
communication. Write an article expressing your point of view, discussing the negative
effects of technology on family relationships and suggesting solutions to minimise these
negative effects.

2. In today’s very competitive world, a worker has to possess multiple skills to succeed.
Write an article discussing the necessary skills and qualifications a worker should have to
be able to compete in the work world.

THE END




